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MO EPNERICE T HRSREAERFR

FrfEsh oD E2-21

SHSEE
AER- KB A AERAIRS—ZIER) | e o
5cm 50c¢m 100cm

gt ilvER (L) 0.09 0.09 — PA-1000
QI RIS 1 0.06 0.05 — PA-1000
OREILTEED 0.09 0.09 — PA-1000
D EETEED 0.08 0.08 — PA-1000

2/4(&)EN  |OREREE 0.08 0.09 — PA-1000
ORELTE 0.09 0.09 — PA-1000
DIEERIHA2 0.06 0.06 — PA-1000
®@flEL 0.07 0.09 — PA-1000
i 0.08 0.08 — PA-1000
Ot opilvER (L) 0.08 0.07 — PA-1000
QIR ERIHFT 1 0.10 0.11 — PA-1000
OREILTEED 0.08 0.08 — PA-1000
@R ERETEED 0.09 0.09 — PA-1000

8/18(K)EEN (B ERIRED 0.08 0.07 — PA-1000
OREILFEE 0.08 0.08 — PA-1000
DEEIGA2 0.10 0.11 — PA-1000
®@fliEL 0.07 0.08 — PA-1000
w15 0.09 0.08 — PA-1000

2/25 (ER18)



MO EPNERICE T HMSREANERFR

e thad £ 2-21

SF2EE
BIE B - Xz I TE Hh 2 AR (R AFR >~ AN EE) BT 25 e
5cm 50c¢m 100c¢m

gt ilER (L) 0.06 0.07 — PA-1000
QB ERIHFT 1 0.09 0.10 — PA-1000
OREILTEED 0.08 0.09 — PA-1000
@ BER PE D 0.09 0.09 — PA-1000

12/3(R)EY  |ORERRE 0.08 0.09 — PA-1000
©RBEILHRED 0.11 0.11 — PA-1000
DIEERIZA2 0.07 0.08 — PA-1000
®flEL 0.09 0.09 — PA-1000
i 0.07 0.08 — PA-1000
gt dilvER (L) 0.07 0.08 — PA-1000
QIBERIHFT1 0.07 0.09 — PA-1000
OREILTEED 0.08 0.09 — PA-1000
D ErTEED 0.08 0.10 — PA-1000

6/5(E)EN |G EREED 0.08 0.08 — PA-1000
OREILFTE 0.07 0.08 — PA-1000
DIEERIHA2 0.07 0.08 — PA-1000
@fliE L 0.08 0.09 — PA-1000
b5 0.08 0.08 — PA-1000

3/25 (ER18)



MO EPNERICE T HMSREANERFR

e thad £ 2-21

ERL314ERE
BIE B - Xz I TE Hh 2 AR (R AFR >~ AN EE) BT 25 e
5cm 50c¢m 100c¢m

gt ilER (L) 0.08 0.09 — PA-1000
QB ERIHFT 1 0.08 0.09 — PA-1000
OREILTEED 0.09 0.10 — PA-1000
@ BER PE D 0.12 0.09 — PA-1000

6/5(K)EY |OKREMRED 0.10 0.10 — PA-1000
©RBEILHRED 0.08 0.10 — PA-1000
DIEERIZA2 0.07 0.08 — PA-1000
®flEL 0.09 0.09 — PA-1000
i 0.08 0.09 — PA-1000
gt dilvER (L) 0.08 0.07 — PA-1000
QIBERIHFT1 0.07 0.08 — PA-1000
OREILTEED 0.09 0.11 — PA-1000
D ErTEED 0.08 0.11 — PA-1000

6/5(K)EY |OKRERRED 0.09 0.09 — PA-1000
OREILFTE 0.09 0.08 — PA-1000
DIEERIHA2 0.08 0.08 — PA-1000
@fliE L 0.09 0.08 — PA-1000
b5 0.08 0.08 — PA-1000

4/25 (BR18)



MO EPNERICE T HMSREANERFR

e thad £ 2-21

AL 304
BIE B - Xz I TE Hh 2 AR (R AFR >~ AN EE) BT 25 e
5cm 50c¢m 100c¢m

gt ilER (L) 0.08 0.09 — PA-1000
QB ERIHFT 1 0.08 0.08 — PA-1000
OREILTEED 0.10 0.10 — PA-1000
@ BER PE D 0.10 0.09 — PA-1000

12/7(&)EN  |OKRBERRED 0.09 0.10 — PA-1000
©RBEILHRED 0.09 0.10 — PA-1000
DIEERIZA2 0.08 0.09 — PA-1000
®flEL 0.08 0.09 — PA-1000
i 0.07 0.08 — PA-1000
gt dilvER (L) 0.08 0.09 — PA-1000
QIBERIHFT1 0.09 0.09 — PA-1000
OREILTEED 0.08 0.09 — PA-1000
D ErTEED 0.08 0.10 — PA-1000

6/4(A)EN  |OREREED 0.09 0.10 — PA-1000
OREILFTE 0.08 0.08 — PA-1000
DIEERIHA2 0.08 0.09 — PA-1000
@fliE L 0.09 0.09 — PA-1000
b5 0.06 0.07 — PA-1000
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FRL2945E
BIE B - Xz I TE Hh 2 AR (R AFR >~ AN EE) BT 25 e
5cm 50c¢m 100c¢m

gt ilER (L) 0.09 0.09 — PA-1000
QB ERIHFT 1 0.08 0.08 — PA-1000
OREILTEED 0.10 0.11 — PA-1000
@ BER PE D 0.10 0.10 — PA-1000

12/5(CR)EN  |ORBERRED 0.08 0.10 — PA-1000
©RBEILHRED 0.11 0.09 — PA-1000
DIEERIZA2 0.07 0.08 — PA-1000
®flEL 0.10 0.09 — PA-1000
i 0.09 0.10 — PA-1000
gt dilvER (L) 0.09 0.08 — PA-1000
QIBERIHFT1 0.08 0.08 — PA-1000
OREILTEED 0.17 0.14 — PA-1000
D ErTEED 0.10 0.10 — PA-1000

6/2(&)EN |ORERMEED 0.11 0.11 — PA-1000
OREILFTE 0.11 0.09 — PA-1000
DIEERIHA2 0.10 0.09 — PA-1000
@fliE L 0.10 0.09 — PA-1000
b5 0.11 0.09 — PA-1000

6/25 (ER18)



MO EPNERICE T HMSREANERFR

e thad £ 2-21

FRL 284 E
P B ARBEATALZANNEE) | g e e
5cm 50c¢m 100c¢m
gt ilER (L) 0.09 0.09 — PA-1000
QB ERIHFT 1 0.07 0.09 — PA-1000
OREILTEED 0.08 0.09 — PA-1000
@ BER PE D 0.11 0.11 — PA-1000
12/2(£)EN  |OKRBERRES 0.09 0.10 — PA-1000
©RBEILHRED 0.08 0.09 — PA-1000
DIEERIZA2 0.09 0.10 — PA-1000
®fIiEL 0.08 0.09 — PA-1000 FRi28F 12 BIEMDIEM
i 0.08 0.09 — PA-1000
gt dilvER (L) 0.05 0.05 — PA-1000
QIBERIHFT1 0.06 0.08 — PA-1000
OREILTEED 0.07 0.10 — PA-1000
6/3(%) A D ErTEED 0.11 0.12 — PA-1000
ORBERRED 0.07 0.09 — PA-1000
OREILFTE 0.08 0.11 — PA-1000
DIEERIHFT2 0.07 0.10 — PA-1000
w15 0.08 0.09 — PA-1000
7/25 (ER18)
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FERL2TEEE
BIE B - Xz I TE Hh 2 AR (R AFR >~ AN EE) BT 25 e
5cm 50c¢m 100c¢m
gt ilER (L) 0.07 0.09 — PA-1000
QB ERIHFT 1 0.08 0.09 — PA-1000
OREILTEED 0.09 0.11 — PA-1000
12/8(8) B @ BER PE D 0.16 0.18 — PA-1000
OREERED 0.08 0.09 — PA-1000
©RBEILHRED 0.08 0.11 — PA-1000
DIEERIZA2 0.07 0.09 — PA-1000
b5 0.08 0.10 — PA-1000
Ot opilvER (L) 0.09 0.09 — PA-1000
QIBERIZAT 1 0.07 0.09 — PA-1000
OREILTEED 0.09 0.10 — PA-1000
6/4(K) @R ERETEED 0.10 0.11 — PA-1000
ORERRED 0.09 0.11 — PA-1000
OREILTEE 0.10 0.10 — PA-1000
DIRERIHAT2 0.13 0.14 — PA-1000
b5 0.08 0.10 — PA-1000
8/25 (ER18)
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26 £F B
AER X A AERATE_ZNIER) | g s
5cm 50¢cm 100cm
Ot ER (1) 0.07 0.09 — PA-1000
Q1B IHT1 0.07 0.09 — PA-1000
QKELFED 0.07 0.08 — PA-1000
. D BERPEED 0.09 0.12 — PA-1000
VAROBN e Em R 0.09 0.11 — PA-1000
OREILEL 0.11 0.12 — PA-1000
DIBERIZEFT2 0.07 0.09 — PA-1000
ibis 0.08 0.11 — PA-1000
Ot ER (1) 0.08 0.10 — PA-1000
QIR IZFT1 0.07 0.09 — PA-1000
QR ELFEED 0.07 0.09 — PA-1000
= @ EErITEED 0.10 0.13 — PA-1000
12/4(R)2Y ORERRED 0.08 0.11 — PA-1000
OREILREE 0.09 0.12 — PA-1000
DB G2 0.07 0.10 — PA-1000
15 0.09 0.11 — PA-1000
Ot ER (1) 0.08 0.09 — PA-1000
QIR IZFT1 0.08 0.09 — PA-1000
QRELFED 0.07 0.08 — PA-1000
. @REmRTEED 0.13 0.13 — PA-1000
VARBN S EmE 0.10 0.10 — PA-1000
OREILTE 0.12 0.12 — PA-1000
DIEERIZFT2 0.09 0.10 — PA-1000
fibi5 0.10 0.11 — PA-1000
Ot ER (1) 0.08 0.09 — PA-1000
QIR IZFT 1 0.07 0.09 — PA-1000
OREITEED 0.08 0.09 — PA-1000
" @ ERE TS 0.12 0.14 — PA-1000
6/4 1B O ERRED 0.09 0.10 — PA-1000
OREILTED 0.10 0.13 — PA-1000
DIEERIZFT2 0.09 0.11 — PA-1000
15 0.09 0.11 9/95— PA-1000 (ER 18]




MmO ENFRICE TS RERERR

e thad £ 2-21

FRi254E B
A - X AEA ARREATR VRS | s %
5cm 50¢cm 100cm

Ot ER (1) 0. 09 0. 11 — PA-1000

Q1B IHFT1 0. 09 0.10 — PA-1000

QKELFED 0.12 0.14 — PA-1000

3./3(A) @R ERTFE D 0. 11 0.12 — PA-1000
Zv Ot RERRE 0.10 0.10 — PA-1000
OREILEL 0.15 0.13 — PA-1000

DIBERIZEFT2 0.10 0. 11 — PA-1000

ibi5 0. 11 0.12 — PA-1000

Ot ER (L) 0. 08 0.10 — PA-1000

QIR IZFT 1 0. 08 0.10 — PA-1000

QREILFEED 0. 09 0.12 — PA-1000

2/3(A) @R ERETEED 0.13 0.15 — PA-1000
Zv Ot RER R L 0. 09 0. 11 — PA-1000
OREILREE 0. 11 0.13 — PA-1000

DIBEERIZFT2 0.10 0.12 — PA-1000

ibi5 0. 09 0. 11 — PA-1000

Ot i ER (1) 0.10 0. 11 — PA-1000

QIR IZFT1 0.10 0.10 — PA-1000

. QRELFED 0. 11 0.12 — PA-1000
?1/5'262(%&; @ BRI TG 5B 0. 22 0. 16 — PA-1000
=hn O BE I R ED 0. 11 0. 11 — PA-1000
OREILTE 0.13 0.13 — PA-1000

DB 2 0.12 0. 11 — PA-1000

15 0. 10 0.12 — PA-1000
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e thad £ 2-21

5 25 BE
AER- X A AERATAL VBT | g s
5cm 50¢cm 100cm
Ot ER (1) 0.10 0. 11 — PA-1000
Q1B IHFT1 0.10 0. 11 — PA-1000
QKELFED 0.12 0.13 — PA-1000
12/2(H) |OREEEE 0.14 0.14 — PA-1000
En ORI LT 0. 11 0.12 — PA-1000
OREILEL 0.13 0.14 — PA-1000
DIBERIZEFT2 0.12 0.12 — PA-1000
ibi5 0.12 0.13 — PA-1000
Ot ER (L) 0. 09 0.10 — PA-1000
QIR IZFT 1 0. 08 0.10 — PA-1000
QREILFEED 0. 10 0.14 — PA-1000
11./1(%) @ EErITEED 0. 11 0.14 — PA-1000
Lrgt Ot RER R L 0.10 0. 11 — PA-1000
OREILREE 0. 15 0.14 — PA-1000
DIBEERIZFT2 0.10 0. 11 — PA-1000
ibi5 0. 08 0. 11 — PA-1000
Ot i ER (1) 0. 09 0.10 — PA-1000
QIR IZFT1 0.10 0.10 — PA-1000
QRELFED 0.13 0.14 — PA-1000
10/3(K) |O®REmRMEED 0. 11 0.12 — PA-1000
Lrg O BERIH R 0.10 0. 10 — PA-1000
OREILTE 0.12 0.12 — PA-1000
DB 2 0.12 0. 11 — PA-1000
15 0. 10 0. 11 — PA-1000
11/25 (ER18)
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5 25 BE
AER- X A AERATAL VBT | g s
5cm 50¢cm 100cm

Ot ER (1) 0.08 0.10 — PA-1000

Q1B IHFT1 0. 07 0.10 — PA-1000

QKELFED 0. 09 0.13 — PA-1000

9./3(K) @ BERI TE D 0. 11 0.14 — PA-1000
En ORI LT 0. 07 0.10 — PA-1000
OREILEL 0. 09 0.14 — PA-1000

DIBERIZEFT2 0.10 0.12 — PA-1000

ibi5 0. 09 0. 11 — PA-1000

Ot ER (L) 0.10 0. 11 — PA-1000

QIR IZFT 1 0.10 0. 11 — PA-1000

QREILFEED 0. 09 0.13 — PA-1000

8./1(K) @R ERETEED 0.16 0.17 — PA-1000
Zv Ot RER R L 0. 07 0. 11 — PA-1000
OREILREE 0. 11 0.15 — PA-1000

DIBEERIZFT2 0.08 0.12 — PA-1000

ibi5 0. 08 0. 11 — PA-1000

Ot i ER (1) 0. 09 0.10 — PA-1000

QIR IZFT1 0. 08 0.10 — PA-1000

QRELFED 0. 11 0.13 — PA-1000

7./2(K) @R ERTEED 0.10 0.13 — PA-1000
AN O BERIH R 0.10 0. 11 — PA-1000
OREILTE 0.16 0.14 — PA-1000

DB 2 0. 11 0.12 — PA-1000

15 0. 10 0.12 — PA-1000

12/25 (ER18)
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5 25 BE
AER- X A AERATAL VBT | g s
5cm 50¢cm 100cm
Ot ER (1) 0.12 0. 11 — PA-1000
Q1B IHFT1 0. 09 0.10 — PA-1000
QKELFED 0.13 0.13 — PA-1000
6./3(A) @ ERETEED 0.15 0.15 — PA-1000
En ORI LT 0. 11 0.10 — PA-1000
OREILEL 0.15 0.13 — PA-1000
DIBERIZEFT2 0.12 0.12 — PA-1000
ibi5 0. 10 0. 11 — PA-1000
Ot ER (L) 0. 09 0.10 — PA-1000
QIR IZFT 1 0. 08 0. 11 — PA-1000
QREILFEED 0.14 0.14 — PA-1000
5,715 (K) @ EErITEED 0.14 0.15 — PA-1000
Lrgt Ot RER R L 0.13 0.12 — PA-1000
OREILREE 0.12 0.13 — PA-1000
DIBEERIZFT2 0.10 0. 11 — PA-1000
ibi5 0. 09 0.10 — PA-1000
Ot i ER (1) 0.10 0.12 — PA-1000
QIR IZFT1 0. 09 0.12 — PA-1000
QRELFED 0.10 0. 11 — PA-1000
415(8) |@ORERERD 0. 21 0.18 — PA-1000
Lrg O BERIH R 0.11 0. 12 — PA-1000
OREILTE 0.15 0.14 — PA-1000
DB 2 0. 11 0.12 — PA-1000
15 0. 10 0.12 — PA-1000
13/25 (ER18)
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T Rk244F
AlEE (RS —RN LB ——
B - K AT AEERAYOL—AIVEERE) | g =
5cm 50c¢m 100cm
IFRE=E(BW) — 0. 09 0. 09 PA-1000
FHE(BA) — 0. 08 0. 07 PA-1000
313 i3
130K B FHE(BA) — 0. 08 0. 09 PA-1000
ABEERN) — 0. 07 0. 07 PA-1000
16/25 (BR18)
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244
| == . EI == LEII}THE{E(?’fOD:/_&}I/'“ﬁH#) EI ==

/E“EE iﬂ; /,E‘IIITEHEEE\\ 5em 50cm 100cm /EIIIE% ﬁ%%

Ot ES) 0.13 0.15 — PA-1000

Qb5 0.10 0. 11 — PA-1000

=1 |OBELFEE 0. 11 0.12 — PA-1000

3/1(&) &Y DI FER A ED 0.12 0.14 — PA-1000

OLELGES: 0. 10 0. 10 — PA-1000

©EEIL AR 0.13 0.17 — PA-1000

IFREE(EN) — 0. 08 0. 09 PA-1000

2QFHE (BA) — 0. 08 0. 08 PA-1000

2760K) W FREE(EBWN) — 0. 09 0. 08 PA-1000

AEE(EN) — 0. 08 0. 07 PA-1000

O ER (1) 0.10 0. 11 — PA-1000

Q15 0.10 0.13 — PA-1000

- QREILFaED 0. 11 0. 11 — PA-1000

2718 B 1 e 0. 15 0.16 — PA-1000

OLELGES:] 0.12 0.12 — PA-1000

©rEEIL R 0.13 0.15 — PA-1000

IFREE(EN) — 0. 09 0. 09 PA-1000

<. RFEE(EBR) — 0. 08 0. 08 PA-1000

1/17(K) BRh SFHE (BN) — 0.08 0.08 PA-1000

AELE(EN) — 0. 07 0. 07 PA-1000

O ER (1) 0.12 0.13 — PA-1000

Q15 0. 11 0.13 — PA-1000

R 254 QREILFaED 0.12 0.13 — PA-1000

177(R) Bh |@%EfmFEL 0.12 0.15 — PA-1000

O ES: 0. 11 0.13 — PA-1000

OREILFTER 0. 13 0. 14 — PA-1000

17/25 (BR18)
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JRR24SEE
_ . BAIEE (X470 —XN)LER) .
i S| AEH R AE
8% B - X% Bl 7E 1t Sem 500 1006 Bl E 25 "%
IFREE(BWN) — 0. 09 0. 09 PA-1000
QFHE(EBA) — 0. 08 0. 07 PA-1000
121 =5
A13(R) HEN FHE (BM) — 0. 09 0. 08 PA-1000
ARBEEN) — 0. 06 0. 06 PA-1000
Ot chLER (1) 0.13 0.12 — PA-1000
Q15 0. 11 0.13 — PA-1000
= |OKREITFEE 0.12 0.13 — PA-1000
1273 21l
73(A) &Y @ RER TR ER 0.12 0.14 — PA-1000
O E S 0. 11 0. 11 — PA-1000
©rEEIL R 0. 14 0.13 — PA-1000
IFREE(EWN) — 0. 07 0. 07 PA-1000
QFHE(BMA) — 0. 08 0. 08 PA-1000
1176 (IN) R
78R W IFHE(BMA) — 0. 09 0. 09 PA-1000
ARBEERN) — 0. 06 0. 07 PA-1000
Ot chLER (1) 0.12 0.13 — PA-1000
Q15 0.10 0. 11 — PA-1000
= |®REILFEER 0.14 0.13 — PA-1000
11./5 £l =
(A) ! @ REFI TR ER 0.12 0.15 — PA-1000
O E S 0. 11 0.12 — PA-1000
OREEIL T ER 0. 15 0.13 — PA-1000
1FREE(BN) — 0. 08 0. 08 PA-1000
QFHE (BR) — 0. 07 0. 08 PA-1000
1073 55
730K | SFHE (BR) — 0. 08 0. 08 PA-1000
ABEEN) — 0. 06 0. 06 PA-1000

18/25 (BR18)



MO EPNFRIZE TS RERERR

FrfEsh oD E2-21

RR244EE
e e BAIEE (XA —XN)LNER) .
Al KA SR 5E Hh g AlE
2l 5E B - X% Bl 7E th — — o Bl E 25 "E
Ot rhILER (L) 0. 11 0.13 — PA-1000
Q15 0. 10 0. 11 — PA-1000
QREEILFEER 0. 11 0.12 — PA-1000
1071 i
R) BN rErES 0. 23 0. 18 — PA-1000
O ES 0.13 0.13 — PA-1000
@©EEIL AR 0.12 0.13 — PA-1000
IFRE=E(BW) — 0. 07 0. 07 PA-1000
QFHE(BMA) — 0. 06 0. 08 PA-1000
9/14(2) B
(&) Wh IFHE(BR) — 0. 08 0. 08 PA-1000
ABEEN) — 0. 05 0. 06 PA-1000
Ot ehnER (L) 0.13 0.13 — PA-1000
Qb5 0.10 0.12 — PA-1000
" QREEILFBER 0. 19 0. 20 — PA-1000
9.3 i
(R) B | EmmEm 0. 21 0. 20 — PA-1000
O ES 0. 22 0. 21 — PA-1000
OREEILEER 0. 15 0. 15 — PA-1000
1FERT (BA) —_ 0. 09 0. 09 PA-1000
- 2FHE(EBA) — 0. 07 0. 07 PA-1000
8./14(k) 2L
(X 2Y Feg= (@m) — 0. 08 0. 09 | Pa-io00
AKEE(EN) — 0. 06 0. 07 PA-1000 8/20(R)BIE
Ot ehILER (L) 0.12 0.13 — PA-1000
Qb5 0. 11 0.13 — PA-1000
QREEILFRER 0. 20 0.18 — PA-1000
8.1 i
R B EmED 0 19 0.19 — PA—1000
O E S 0. 23 0. 21 — PA-1000
GO EILEHEER 0.12 0.13 — PA-1000

19/25 (BR18)
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FrfEsh oD E2-21

RR244EE
e e BAIEE (XA —XN)LNER) .
Al KA SR 5E Hh g AlE
2l 5E B - X% Bl 7E th — — o Bl E 25 "E
IFREZE(BN) — 0. 09 0. 08 PA-1000
2F % B HIh—IL (BR) — 0. 09 0. 09 PA-1000
7170K) B
(%) #n IFHE(BR) — 0. 08 0. 08 PA-1000
ABEEN) — 0. 05 0. 06 PA-1000
Ot ehLER (L) 0. 14 0.13 — PA-1000
Q15 0. 11 0.14 — PA-1000
- QB EEIL FEER 0. 22 0. 20 — PA-1000
12 =L =
(R) &Y @ RER T ER 0. 25 0. 21 — PA-1000
O ES 0. 22 0. 21 — PA-1000
OREEILEER 0.17 0. 15 — PA-1000
DEhith i ER (1) 0.13 0.13 — PA-1000
Qb5 0. 11 0.14 — PA-1000
" QREEILFBER 0. 21 0.19 — PA-1000
6.7 i
L 0. 26 0. 23 — PA-1000
O ES 0. 20 0. 21 — PA-1000
OREEILEER 0.18 0.17 — PA-1000
1FERT (BA) —_ 0.08 0.10 PA-1000
2F % B #IHR—IL (BR) — 0. 09 0. 09 PA-1000
6.6 R
P W s amt—L (ER) — 0. 08 0.08 | PA-1000
ABEEN) — 0. 06 0. 07 PA-1000
1FRE=E(BA) —_ 0. 09 0.10 PA-1000
QFHE (BR) — 0. 08 0. 09 PA-1000
5/17 i3
(R) #h IFHE(BR) — 0. 09 0. 08 PA-1000
ABEEN) — 0. 05 0. 06 PA-1000
20/25 (BR18)
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JLRE 23~ 244F FE
p:l - KA p: =1 ATE
8% B - X% Bl 7E 1t Sem 500 1006 Bl E 25 "%
Dhsh i ER (1) 0.13 0.12 — PA-1000
Q5 0. 11 0.14 — PA-1000
QREEILFER 0. 20 0. 20 — PA-1000
5/7 s
A1R) BN s Emm 0. 23 0. 23 — PA-1000
O ES: 0. 22 0. 22 — PA-1000
©EEIL AR 0.16 0.16 — PA-1000
IFREE(EWN) — 0. 07 0. 08 PA-1000
— [2FEEMFR—IL(BRN) — 0. 08 0. 08 PA-1000
4723(R) W 3F% B #Ih—IL (BR) — 0. 06 0. 07 PA-1000
ARBEEN) — 0. 07 0. 06 PA-1000
Ot chLER (1) 0. 15 0. 16 — PA-1000
Q15 0.12 0.14 — PA-1000
QREEILFBER 0. 21 0. 23 — PA-1000
4100K) BE
1000 B I EwmE 0.19 0. .19 — PA-1000
O E S 0. 23 0. 23 — PA-1000
©rEEIL R 0.17 0.17 — PA-1000
IFREE (BEWN) — 0. 09 0. 09 PA-1000
<. |12FZ BHIHR—IL(BR) — 0. 08 0. 08 PA-1000
3/210K) HEhL 3F% B #IHR—IL (BR) — 0. 08 0. 08 PA-1000
ABEEN) — 0. 07 0. 07 PA-1000
Ot ehLER (1) — 0.13 0.13 PA-1000
Qb5 0.18 0. 20 — PA-1000
- QR EALFEER — 0. 21 — PA-1000
31 =L
AR BY @ REFI TR ER — 0. 22 — PA-1000
O ES: — 0. 24 — PA-1000
GO EILEREER — 0. 20 — PA-1000

21/25
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JRR234ERE
p:l - KA p: =1 ATE
8% B - X% Bl 7E 1t Sem 500 1006 Bl E 25 "%
IFREE(EN) — 0. 09 0. 09 PA-1000
=, |2FZBiHR—IL(BRA) — 0. 07 0. 07 PA-1000
1 =l
2716(K) &Y 3F% B #IHh—IL (BR) — 0. 07 0. 08 PA-1000
ARBEEN) — 0. 06 0. 06 PA-1000
Ot chLER (1) — 0.17 0.18 PA-1000
Q15 0. 22 0. 24 — PA-1000
QREEILFER — 0. 26 — PA-1000
2,2 s
UK N @B T 5D — 0.19 — PA-1000
O E S — 0. 28 — PA-1000
©rEEIL R — 0.19 — PA-1000
IFREE (BEWN) — 0. 09 0. 09 PA-1000
2F % B #IR— )L (BR) — 0. 08 0. 06 PA-1000
H?.
17180K) Hh FE—BEE(BA) — 0. 07 0. 07 PA-1000
ARBEERN) — 0. 06 0. 07 PA-1000
Ot chLER (1) — 0.18 0.17 PA-1000
Q15 0. 55 0. 31 — PA-1000
R 244 QREEILFBER — 0. 25 — PA-1000
1.710(K) BEh |@kEErR LR — 0. 27 — PA-1000
O E S — 0. 25 — PA-1000
OREEIL T ER — 0. 20 — PA-1000
IFREE (BEWN) — 0. 09 — PA-1000
= |2FEZE(BA) — 0. 08 — PA-1000
12715(K) HEh 3FE (BM) _ 0. 08 — PA-1000
ABEEN) — 0. 08 — PA-1000
22/25 (BR18)
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JRR234ERE
p:l - KA p: =1 ATE
8% B - X% Bl 7E 1t Sem 500 1006 Bl E 25 "%
o ER (L) — 0.18 0.16 PA-1000
b5 0. 26 — — PA-1000
12/5(R) B |[CvoT2yFE — 0. 25 — PA-1000
hfE (ZELE) — 0. 22 — PA-1000
LB — 0.17 — PA-1000
ABEEEIE — 0. 32 — PA-1000
AREEEER — 0. 35 — PA-1000
11,724 =5
] v~ — 0. 39 — PA-1000
EFER At — 0. 33 — PA-1000
1FHE(BRN) — 0. 08 — PA-1000
QFHE(BMA) — 0. 08 — PA-1000
1l HEE
17220%) Hn FHE(BM) — 0. 07 — PA-1000
ARBEERN) — 0. 07 — PA-1000
<, [ButhsbE (L) — 0. 21 0. 20 PA-1000
1110 B
/100K) HEh g 0. 30 — — PA-1000
<, [ButhsbE (L) — 0.19 0.19 PA-1000
1072 B
7260K) Hh w5 0. 25 — — PA-1000
1FEE (BA) — 0. 07 — PA-1000
2FHE(EBA) — 0. 07 — PA-1000
IFHE(EBA) — 0. 07 — PA-1000
ARBEERN) — 0. 07 — PA-1000
10720(KR) £Y |REW — 0. 20 — PA-1000
REILERAE — 0.17 — PA-1000
EHih — 0.22 — PA-1000
B — 0. 23 — PA-1000
EFEALE — 0.17 — PA-1000
23/25 (BR18)
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: S| 3 =] 4 Bl E
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= [ButiER (L) — 0.18 0.18 PA-1000
10719 £l
/190K) &Y b5 0. 25 — — PA-1000
o HER (L) — 0. 27 0. 25 PA-1000
1012 i3
i 0. 22 — — PA-1000
= EhohiER () — 0. 26 0.27 PA-1000
1075 £l
/50K) &Y b5 0. 25 — — PA-1000
o HER (L) — 0. 22 0. 21 PA-1000
9./28 &
C280K) BN L 0. 21 — — PA-1000
= EhohiER () — 0. 21 0. 20 PA-1000
22 =Ll
85/22(A) &Y fibi5 0. 26 — — PA-1000
1FHE(BRN) — 0. 09 — PA-1000
QFHE(BMA) — 0. 07 — PA-1000
IFHE(BMA) — 0. 08 — PA-1000
ARBEERN) — 0. 05 — PA-1000
9.7200:k) EY |REW — 0.24 — PA-1000
BRELEAE — 0. 23 — PA-1000
EHih — 0. 32 — PA-1000
B — 0. 27 — PA-1000
EFERLE — 0. 21 — PA-1000
b ER (L) — 0.19 0.19 PA-1000
14 =5
83/140K) BRHL Wig 0. 23 — — PA-1000
b ER (L) — 0. 22 0. 21 PA-1000
7 i3
9/70K) Hh Wig 0. 23 — — PA-1000
b ER (L) — 0. 23 0. 23 PA-1000
8.730(N) BE
i 0.24 — — PA-1000

24/25
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gy = g = AEME (XA 70—~ )LHEE) !
piil = KA SHI =1 AlE
Al H - K% Bl 5E Hh Sem 500 100¢m Al 7E 7% eSS
1FEE(BN) — 0. 09 — PA-1000
QFHE(EBMA) — 0. 08 — PA-1000
8.726(&) &
/26(5) B IFHE(BR) — 0. 08 — PA-1000
ABEEN) — 0. 08 — PA-1000
&R () — 0. 22 0. 21 PA-1000
8 =5
/240K BN e 0. 21 — — PA-1000
&R () — 0. 22 0. 21 PA-1000
817 =5
B e 0. 24 — — PA-1000
i ER () — 0. 23 0. 23 PA-1000
8./10 =5
k) n Wig 0. 26 — — PA-1000
8. 30k) BY %&i’gqﬂtuﬁﬂ(i) — 0.23 0. 21 PA-1000
b5 0. 24 — — PA-1000
7,970K) 24 %&i’gqﬂtuﬁﬂ(i) — 0.22 0.23 PA-1000
b5 0. 25 — — PA-1000
7,200K) 24 %&i’gqﬂtuﬁﬂ(i) — 0.24 0.23 PA-1000
fibi5 0. 27 — — PA-1000
111(8) Bh |EuhgnER (L) — 0. 36 0. 30 RDS-30
174(R) Y B (L) — 0. 31 0. 31 RDS-30
6.27(H) Y |EuhgHER (L) — 0. 40 0. 31 RDS-30
- Bt ER () — 0. 35 0. 25 RDS-30
20 =Ll
6-20(R) &Y b5 0. 25 — — RDS-30
TERR234 Bt ER () — 0. 29 0. 26 RDS-30
6.713(A) &Y w3 0. 22 — — RDS-30

25/25




